
Musique	–	7e	année	
	
Interpréter	des	œuvres		
	
	

Copie	type	de	niveau	2	
	
Justification	
Élève	au	saxophone	et	à	la	clarinette	
	
L’élève	joue	son	instrument	en	respectant	le	rythme	et	la	plupart	
des	notes	demandées.		Par	contre	:		
Ne	joue	pas	le	bon	doigté		
• Clarinette	joue	mi,	ré,	mi	à	la	place	de	mi,	ré,	fa	(mesure	3)	
• Saxophone	mauvais	doigté	du	do.	

La	qualité	du	son	:	
• Clarinette	:	gonfle	les	joues,	manque	de	contrôle,	ne	

soutient	pas	le	son	à	la	fin	des	phrases.	
• Saxophone	:	manque	de	contrôle	au	niveau	du	bec.	

La	position		
• Clarinette	:	inversion	des	mains	(main	droite	en	haut)	

mauvaise	utilisation	du	support	du	pouce	(tient	le	support	
en	faisant	une	pince	avec	l’index	et	le	pouce	à	la	place	de	
déposer	le	support	sur	son	pouce)	

Ne	joue	pas	les	nuances	et	ne	respecte	pas	le	signe	de	
prolongation.	
	
Copie	type	
Voir	le	fichier	vidéo.	
	


